e

»
*

'Jf?‘ﬂ-u!oa'p;u‘!‘“'*‘ Al nt,
Wit E R S HI IR ""‘:I(::-\:oa'f: Hleateateste Yealeals ;l'n-l- sfealesteatealeafentestes
SR Neess St C R ""i:'-{'f"'I“v?*1*153111:!.?{‘:‘:;f::'fql Tanteal.
eajesfeafefesfesiedlenfesfanien]esesaaaafastesiasiesiesies]
- - - .-'itv S

-

i Series WYXZ1/5

r tr
(Oriw

Set No. 3

et
7

s

ALE])
LY

i’
2
e
(@]
(=)
o
)
N
—
N
—
W

R TER R R\

1
I
!
I
I
1
I
]
i
I
I
I
1
1
1
]
!
1
1
i
1
]
1
1
1
1
1
]
1
o O e

E P PR R PR P

A ”
o

¢ Roll No.
I

i Bl e - |

" ! 1Candidates must write the Q.P. Code on
l s M I I
Lﬂ:__ :I_ l _j; l _\:' l “él _’-!_l 210 ) :fhe title page of the answer-book. ;

i

-

ENGLISH
(Language and Literature)

e e
=2
i
7740

"
+ fr 4

)
T

o
]

Maximum Marks : 80

"
»

Time allowed : 3 hours

%
5
o =
E NOTE .
5% (I)  Please check that this question paper contains 19 printed pages.
i"_:f (II) Q.P. Code given on the richt hand side of the question paper should be written on
{: the title page of the answer-book by the candidate. s
;‘f.» (III) Please check that this question paper contains 11 questions. g:
f{f (IV) Please write down the serial number of the question in the answer-book f}f
& before attempting it.
g; (V) 15 minute time has been allotted to read this question paper. The question paper
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General Instructions : _
Read the instructions very carefully and strictly follow them :
(i) This question paper comprises 11 questions. All questions are compulsory.
(i)  The question paper contains three sections : '
Section A — Reading Skills
Section B — Grammar and Creative Writing Skills
Section C — Literature :
( iii) Attempt questions based on specific instructions for each part.
. P.T.0¥
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SECTION A

Reading Skills 20 marks

1. Read the following passage carefully :

1 Floods are not new to India and this subcontinent, but in recent years
ter attentlon, perhaps
than it did in the
ccurrence of floods

often there is very

the problem of flooding has received much grea
Jargely because it has led to greater damage now
past. Even though information on the impending 0
is now more accurate and certamly more timely, 0
httle time or support 1nfrastructure in place by which damage can be
minimised. This is partmularly true in the case of flash floods
resulting from sudden and excessive heavy rain.

s very much related to the seasonal
hort period

92 In the case of India, flooding i
nature of our rainfall. The monsoons are spread over a s

during the year and often brmg a concentrated volume of rain, which

cannot be absorbed by the earth and finds an outlet only in the form
of streams that join up with our major r1ver systems. Flooding due to

heavy rain is confined not only to the mam rivers of the country, but
also affects smaller tributaries and streams. Once these streams spill

~ over their banks they could cause excessive harm, mainly because
those hvmg near the banks of these streams, partlcularly in

mountain areas, do not have easy recourse to movmg away qmckly

3 One major factor that could lead to a ‘higher severity of flooding in the
future is the danger of climate change. While the evidence of the
: .
ﬂih;re of impacts, resulting from climate change on preclpltatlon and
odin
0y 1? at the regional level, is not entirely clear, it could happen
¢ Indian subcontinent wit
slgmﬁcanﬂy P nesses and suffers the effects of a
nged pa |
pattern of monsoons. One set of scientists has

that the
tionsoons could be shorter in duration but far

More ; .
Usyy tensive; i
*ther words, much '
greater precipitation would
%D




uch shorter period of time, thereby increasing the
Climate change is the result of human actions

danger of flonds:
the increased concentration of greenhouse gases in the
of which carbon dioxide is the most prominent.
o human actions have heightened the dangeT of
the

tting of trees in the mountains as well as in
the ecological damage through deforestation
to large-scale erosion of the mountain slopes

These lead to 'thel deposition of silt on the

and high levels of siltation.
riverbeds in the plains and hence spillover of water whenever the
volume in the river reaches a certain level. With siltation on the
ccurs even at very shallow water levels. The
d substantially because of

riverbeds, flooding ©
_yulnerability of the population has increase
_7 population pressures. Anl example is the stubborn and perhaps
helpless settling of slum dwellers on the banks of the river Yamuna
in Delhi, who become victims of flooding. Wh4t is a mere trickle most
s its banks during: the monsoons, as has been the

ke place in a m

through
atmosphere,
At the local level als

| ﬂoods through the cu
s. In case of India,

plaln
of the Hzmalayas has led

of the year, burst
case in recent years.. = . 5 23
mimising the damage from floods It

Flood. forecasting is critical to m
is for this reason that the Central Water Commission has set up a

network of forecasting stations, which cover the most lmportant
flood-prone interstate rivers in the country. These stations produce
forecasts that are used to alert the public and to mobilize various
official agencies so that they take both preventive as well as relief
measures, whenever required. However, even in cases where
}f)‘orecasts have been timely and generally accurate, people have often
een reluctant to move ‘aw
means and physical Optlonsafﬁrbiitlzz ::v;n Osfrt casesdthey =
one that is relatively safe. In the case of ﬂY Om. s e
. ash floods, forecasts are

aitheplt-tomake, and ofienithe time available for relief is very short

P.T.O.



. jven
ostions &Y€
Based on your understanding of the passage, answer the a4 10x1=10

below : :
| . ortant T

(i)  The problem of floods has been considered more imp

because

(@) floods have led to much greate

r damage pow than in the

past. |
ing in i ocation-

(b) floods are resulting 1n mcreased rel
g the monsoon geason.

and cyclones in the

(¢)  floods occur only durin

(d) of problems of frequent tornadoes

subcontinent. -
| i rojects W1
(i) Specify the option that displays what the writer Ppro) |

reference to the following statement.
One major factor that could lead to higher sev
the future is the danger of climate change.

erity of flooding 1n

(a) helplessness
(b))  speculative
(¢c)  denial

(d) conviction_ .

(iii) Complete the following with a phrase from paragraph 3 :

Opinion : ' Reason
Some scientists estimate

that shorter duration

of monsoon season leads

to more intensive rainfall
[ more intensive ra .




(v)

(vi)

(vii)

(viii)

(ix)

(x)

2/5/3

Even when the prediction is accurate, people do not evacuate the

places where the warning is given.
(a) True
(b) False

Supply one point to justify the following :

The worst hit people are slum dwellers.

Based on your reading of the text, list two reasons why the writer

says that in spite of timely forecastmg people have suffered.

The writer says that forecasts are difficult to make and tm:le
available is very short. Select the reason for it.

(a) Flash floods

() Cyclonic rain

(¢c0 Tornadoes

(d) Landslides

What connect does the writer draw betweeﬁ_ tributaries and
floods ? (Para 2) | IR )

Which of the following statements is/are falsé ?

The vulnerability of the populatmn has increased substantlally
because of population pressures symbolised by :

1. People are superstitious. “
1.  Difficult to evacuate flood-affected areas.
Select the correct option :
(@) Onlyl |
(b) OnlyIl
(c) Both I and I
(d) None of the above

P.T.O:



war and all other

ple water sources
actually

\g/ Read the following passage carefully :

1 Unsafe water kills more people eac

forms of violence combined. Meanwhile, our drinka '
less than 1 percent of the Earth’s freshwater 15_ _
he challenges will only increaseé by
to be orie-third

h year than do

are finite :
accessible to us. Without action, t

2050, when global demand for freshwater is expected

greater than it is now.

-9 Water is uniquely vulnerable to pollu
solvent”, water is able to dissolve more substances
liquid on Earth. Water pollution is- the release of substances into

 subsurface groundwater or into lakes, streams, rivers, estuaries, and

am
the point where the substances interfere with ben'_eﬁcial use
] functioning

ddition -
such as chemicals, trash, or.
e the release of

oceans to
of the water or with the natura

to the release of substances,
water ' pollution may also includ

of -ecosystems. In a

microorganisms,

energy, in the form of radioactivity or heat, into bodies of water. The

key causatives of water: pollutidn in India are urbanization,
offs with the

deforestation, industrial effluents and agricultural run-
use of insecticides and pesticides. The other causes are social and

religious. offerings. in watgér bodies and the use of detergents and
fertilizers. ' ' TP A

3 Water pollution can have disastrous consequences on tile ecosystem
Furthermore, toxic chemicals can travel through the food chain and t
: : ge

into our bodies, causing diseases and death

4 There is no single or simple answer to stoﬁ the Wafer olluti S
jlllt:‘w;ev:fr,lt';he}'e are many solutions to prevent water poI;IutliI; mn.'cnsm.
r.fzduclj‘zgy p;:::i: I:fa::thln mdUStrieS' They are wastewater t:;a}l()th m
KT 'water-efﬁ:; and “.rater conservation. In addition .t .mgnt’

ent toilets, stormwater map o this, we

wastew -
ater treatment. agement and 0Zone

/5/3 - - P
6



Causes
of water

| MBJ or Causes of Water Pollutlon

Based on your understandmg of the passage answer the questlons given
e gt : _ - 10x1=10

below :

for the followmg, based on information in para 1.

(i Infer one reason
Less than 1 percent of the Earth’s freshwater is actually accessible

 tous.
(i) Select the appropriate option to fill in the blank :-
Water is uniquely vulnerable to-___ *

(a) season
(b) pollution
(¢  water bodies
(@) extreme weather conditions
() Com
e plete the following analo |
s gy correctly w1th a word/phrase from

vulnerable - resilient : : artificial :

2573
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@dv) -

)

W)

(vi)

(vii)

(viil)

(ix)
(%)

Select the correct option to complete the following gentence

Water pollution can have disastrous consequences 01 i
(a) the ecosystem

(b)  weather conditions

(¢) unexpected rainfall

d) flash floods

. 1 in our
From the chart, identify two causes of water pollution

homes.

. . o 2 v) :
For the Visually Impaired Candidates only in lie¥ of Q. No. 2 (

Describe any three major causes of water pollution.

Fill in the blank by selecting the correct.option :

One of the solutions of preve:nting water pollutionis _— ——
(a)  building industries near water bodies

(b) water conservation and reducing plastic waste

(¢) avoiding swimming ' |

(d) reducing farming

Substitute the word ‘causative’ with one word similar in meaning
in the following sentence:

The key causative of water pollution in India must be addressed.

According to the writer, water pollution is defined as _

(Para 2)

List one way in which religious rituals impact water bodies

Select the most suitable title for the passage from the followsi
(a) Water Pollution — A Concern mng .

(b)  Unsafe Water — A Menace

(¢)  Universal Solvent — Water

(d)  Global Concern — An Urgent Need

8



e SECTION B
rammar and Creative Writing Skills 20 k
: _ marks

Attempt any fert of the following twelve questions :
v 10x1=10

(i) Fill in the blank by choosing the. correct opti
online update : ption to complete an

The story has been of proportion because of the

aggressive reaction of the people.
(b) blown in

(a) blown out
(d) blown

(c)  blownup
nversation between a nurse and a p
rting the reply correctly.

)  Readtheco atient.

Complete the sentence by repo
Nurse: Hasthe wound started to heal ?

Patient :

The nurse while trying to
asked whether the wound had starte

replied

No, it is still bleeding.
find out how the patient was feeling,
d to heal to which the patient

Select the correct option to fill in the blank for the given line from
a neighbourhood weekly. : 2 |
Residents are requested to segregate the wet from the dry waste.

adhere to civic norms.’

(iii)

Residents
(a) can (b) ought to
~(e) willbe (d) might

fies the errdr and supplies the

(iv) - Select the option that idenfi ;
from a magazine article :

correction for the following line

Blogging today is increasingly gaining on popularity.

Option No. Error Correction
(a) popularity | popular
(b) on in
(e) increasingly | increase
(d) today yesterday

2/5/3
' | 9 : _ P.T.O.
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(v)

(vi)

(vii) -

(viii)

Complete the given narratlve py filling in. the blank with the
correct form of the word given in the brackets

The boy (realize) his mistake when he reached the end

of his journey-
(a) has realized

) canrealize

(c) realizing
(d) realized
Fill in the blank by usmg the correct optmn

When Sharad reached the airport he was totally

" because he was flying for the first tlme

(a) - atocean:

(b) atsea

(c) atawe

@ atthe mercy.

Report the dlalogue between two students, by completing the
sentence : s

Rashid : Are you pa:t1c1patmg in the annual Hindi play ?

Rakesh: 1 would 'like to, but I have to v131t my alhng
grandmother that day. :

In response to the question about whether Rakesh would be
pertlclpatmg in the annual Hindi play, Rakesh says

Identify the error in the 'g'iver;l sentence and supply the eorrection

The Commissioner invitation the residents to ' shar
problems regarding the sanitation issues PPy

Use the given format fof your response

Erro
r Correction




(ix)

(x)

(x1)

(xii)

2/5/3

h

Samar shared some information with Sameer about his recent
visit to a wildlife sanctuary. Report Sameer’s question |

Did you spot a tiger during the safari ?

Fill in the blank by choosing the correct option.

The entire family with a mild infection and they
recovered soon.

(a) cameup

“(b) came down

"(¢) came along

(d) -camein

Select the correct option to completé the narration of the dialogue
between Shyam and Shivam. :

Shyam : Have you seen this-actor’s latest film ?
Shivam : Yes, I have. The actor has done a marvellous job.

Shyam met his friend Shivam and they began talkmg Shyam
asked Shivam whether he had seen the actor’s latest film. Shivam

affirmed and said

(a) that the actor has done a marvellous job.

(b)  that the actor had aoneé a 'inarvellou’s job.
(© -

(d)

that the actor has been doing a marvellous job.
that the actor could have done a marvellous job. -

Fill in the blank with the correct option :

There is something wonderful Waiting

reaches home, : her when she
(@) of |
(b)  about .
(¢ for
(d)  inside
11

PO,



4.

5.

2/5/3

Attempt any one from (A) and (B) given b
(A)

elow i

s the following advertisement ;

You are Anita/Ashok. You came acros

Manthan : We Lead the Future L
Web designing is not only ab
pages and displaying content.
the idea and turning it into a be

eaders

out creating the best
It is about converting

autiful website.

Write a letter in 100 — 120 'wor
inquiring about their short-term

necessary detai

services.
OR

B) :
f chain snatchi

have been a spate 0
Write a le

young boys riding bikes. '
editor of the colony newslette

the number of petty crimes in
felt by the residents and sugges

introduced.

n the

Attempt any one from

(A)  Study the bar graphs given bels
100 — 120 words on the effects of

exotic birds that visit our count
pollution affects the n:

reasons other than pollution- that have a
tical solutions to stop the declining

siting India.

e

birds ? Suggest some prac

number of migratory birds vi

no. of migratory birds visiting Indla\
3000 4—
2500 -
2000
1500 1
1000 4

500

1s such as eligibility, duration,

You are Rachna/Ramesh living at Maya E

r drawing attent
t strict security
(A) and (B) given below : ‘ol )
below and write an analytical report in

ry every year.
tive bird population to

ds to the .Director, Manthan,
courses and asking for all
fees and placement

nclave, New Delhi. There
dents in your colony by
0 - 120 words to the
:on to the increase in

ng inci
tter in 10

Mention the insecurity

colony.
measures to be

‘pollution on the migration of .
' Do you think
o ? Could there be
bearing on migration of

i)

Pollution levels
25 '

20

15

10

B

2000 2010

1990

'/

12

"

2000

1990

o




For the Visually Impaired Candidates only in lieu of Q. N
_ ' « INo. 5(A) :

(A) Ybu are Rita/Rohan, Head Girl/Head Boy of your. school. You
decided to make the school population aware of the advantages of

tree plantation and tell them how trees can serve as better

air-conditioners.
Write an analytical paragraph in 100 - 120 words. Take the help of

the notes given below :

Trees keep environment cool by :
() taking heat off the Earth and air.

. (i)  absorbing carbon dioxide that helps.iri 'éonirolling temperature

rise.
(i)  bringing rains.
(iv) checking direct sunlight.

(v) providing shade.

IOR

l:(B Dl . - . 3 : I .
) 1g1taW1su§1 learning came to the rescue of teachers and students

in imes
recent times, It also heralds the transition from old to new-

trends in th
e education system. Educatlon can now be accessed

~ pace. Write an ang]
. ytical paragraph o
100 — 120 words., | v Vil e

2/5/3
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SECTION C
Literature

Attempt any one from (A) and (B) given below :
(A)  Read the following extract and answer the que:

To the assembled guests and the watching Wor
of us do, by our presence here ..... confer glory an
liberty. Out of the experience of an extraordinary h
that lasted too long, must be born a socie
will be proud. We who were outlaws not 8
been given the rare privilege to be host to the n
on out own soil. We thank all our distinguis
guests for having come to take possess
country of what is after all, a common vi
for human dignity. -

40 marks

stions that follow : 5xI1=5
1d, I said : Today, all

d hope to newborn
uman disaster

ty of which all humanity

o long ago, have today
ations of the world -

hed international

ion with the people of our
ctory for justice, for peace,

(i)  Asociety that __ was born out of human disaster.

(a)- all humanity would be proud of
(b)  was full of extraordinary human disaster
(c)  was full of outlaws and fighters |

(d) hosts nations on their soil

(i) The former outlaws were given the privilege of
(a) getting citizenéhip of th_eir country
(b)  participating in a trade conclave |
(c) ﬁnalizingl the foreign policy
(d)  hosting the nations of the world on their soj]

(a)  gratitud
(©) i (b)  achieve
happiness (d) oy

(iv)

14



2/5/3

(v) The noun form of the wor
(a) conferring (b) confident
(© conference (d) configuring
OR
(B) Read the following €X ract and answer the questions that follow 5%
Think-Tank That's petter Noodle, 1 wish to be placed in
8 Lommunication with our manned space probe to that
ridiculous Jittle planet We are going t0 put under 0uT
generous rulersl‘hp at do they call it, again ?

Noodle : Earth, your . Intelhgence .

Think-Tank : Earth __ of course. You see how insignificant the
place ijg ? But first somethmg jmportant. My
nirror. I wish t0 consult Y ‘mirror.

)  Think- _Tank wants to commumcate with the :

(a) People of Barth = Tl
(b) Sc1entlsts on Earth , |
n Earth |

)

(iid)

(iv)
" (v)

() Enwronmwtahsts 0
(@) Martians o1, Earth

Complete the analo table word from
the passage

read learn explore

gy by selectlng the sul

Vour Intelligence refers to
(a) Earth

" (b). - Noodle
(¢)  Little Planet

(d) Think-Tank

What does Think-Tank want to do (418

Fill in l;he blank with one word c;nly.

Think-Tank is a of the Martian team.

15
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7 Attempt any one from (A) and (B) given below : 5x]=5

: hat follow -
(A) Read the following extract and answer the questions t

What is the boy now, who has lost his ball,
Wh.';lt, what is he to do ? I saw it go

Merrily bouncing, down the street and then
Merrily over — there it is in the water !

No use to say ‘O there are other balls’ :
(The Ball Poem)

6y 'Wha;; does the expression ‘what, what is he to do’ denote ?
(a)  loss of the ball
(b)  ask the poet for another ball

(¢)  boy’s grief over the loss of the ball |
(d)  godown the street

(ii)  State whether the following stafement is True or False :

The poet was delighted to watch the ball bouncing down the
street into the water.

(iii)  The poet repeats the word ‘what’ in order to

(iv)

There i ‘
CTe 18 no use to say ‘O there aye other ballg’ ing;
the poet feels that it would be Indicateg that

(a)  helpful ————to console the boy.
(b)  futile

©  easy

(d) shamefy]

16




(v) ‘What is the boy now, who has lost his ball’
Which feeling is expressed in this line ?
(a) regret
(b) cheer
(c)  despair
@  thrill
dy O R: | j
(B) Read the following extract and answer the questions that follow 5x1=5

But the dragon was a coward and she called hlm Custard.

Custard the dragon had b1g sharp teeth

e o

And sp1kea on top of hnn and scales underneath

Mouth like a ﬁreplace chlmney for a nose,
v '.'l'i‘-,_ '_'::.‘- “‘ 'S;‘-'—."-: -:;il--‘ y J\.‘

And reaho, truho daggers on hls toes

(i) . Complete the analogy by selectmg the sultable word from
the extract
sharp : blunt : ; above ;'

()

Which one of the following is not a feature of the Dragon 2
’ . gon

(a)  big sharp teeth

(b) spikes on the top

(¢) brave asa lion . I

(d)  could release fire from the month

2/5/3
17
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(iii) What effect does the peet want to create by the simile
‘mouth like a fireplace’ ?

(@) emphasis
(b)  compassion
(¢ rhyme
(d)  pathos
(iv) Complete the sentence appropriately.

It is clear that ‘Metaphor’ is the poetic device used for
‘chimney for a nose’ because __** . (Clue : explain how
metaphor applies here) _ e 1

(v) - State whether the fellowmg statement is True or False
based on the given extract :

' Custard’s formldable appearance was a true reflection of hlS
courage.

8.  Answer any four of the fo]lowmg questmns m about 40 - 50 words

each : o o LT LAY 3 i 4x3=12

(@) ‘Family played a vital role in the first ﬂ1ght of the young seagull.’

Give examples to substantmte the above statement

I

(b) Why did Pramol nat share Rajvir's e_Xeltement at seeing the tea

gardens ?

(¢)  What stopped Valli from going to the. stall to have a drink ? What
do we learn about Valli from this ?

@ What does the tiger in the zoo do at night ?

(e).  What did an old religious man declare in the poem, ‘For Anne
Gregory’ ?

- 2/5/3 : : 18



9.

10.

-

11. -

2/5/3

Answer any two of the following questions in about 40— 50 word'él

each : X : : 2x3=6
(a) Describe Max as a secret agent. | .

(b) What does the phrase honour among thieves’ mean ? Why does
Horace get angry at this phrase ?
(¢) What does the thief say about the different reactions of the people

when they are robbed s
o - r* il | ¢ 4

Answe_r..any one: of the followmg questmns .in about, 100 — 120 words
each: i | 6
(a) Forgiveness is the foundatmn of a cordlal relat1onsh1p Do you

agree ? How is thlS message conveyed in the play “The Proposal’ ?
ot T i e O_R ol
®) Why did ﬁsa Gotami meet the Buddha ‘? How did Buddha change

her life ? ' " -
Answer any one of the followiné questions in about 100 — 120 words

' h : 6

each :

(a) ‘Education is consudered the most important tool for empowering

‘women in society. It plays an 1mportant role in social and cultural

* development.’ Prove the above statements in the light of the story
‘Bholi’. '

OR

!

) Matilda’s over-ambitiousness was the cause ofl her destruction. .
Justify. & s

19



